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L. Which process can be used to change iodine crystals to iodine gas?

A distillation

B evaporation

C — ﬁlh.aﬁon..._. e 8 it _..-_..”.:_-
D sublimation '

The table shows the melting points and boiling points of four substances.

substance melting point /°C boiling point/°C
A 545 - " 1,300
B -7 , - 59
& -165 - - -92
D 27 98

Use the table to answer qv‘.x'esti'ons 2to4.
Choices can be used once, more than bnée or notat all.

Which substance

2. is a solid at 30 °C, A BCD

3.  isagasatroom temperature, 20 °C, A B CD

4. has a meltmg pbir@t closest to'the melting point of ice? A BCD

5 Which test could be used to-show thata samElé of water is pure?

It freezes at exactly 0 °C. ; ;
It turns anhydrous copper(ll) sulphate blue.
It turns cobalt(I) chloride paper pink.

. When it evaporates, it Jeaves no-residue. .-
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Il Use the diagrams to answer questions 6 to 8
J Which diagram represents
| 6 amixture of monatomic gases, L T A B CD
| 7. molecules of hydrogen gas, A B CD
8. ' steam? ’ A BCpD
9. The element with atomic .numbér 2 xshkely to have sfmﬂar prdp;artiés to the
- element with the atomic number A o -
A 9 . R
B 10 T -
C 12
D 19,

10. Element z may be represented as '9Z. Which is ihe structure of thejon z 27

protons . I “‘neutrons I
A 8 8
B 8 J - 10
C 10 o 10
D | 10 .18
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12.
13.
14.

15.
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Number of outer

The number of outer shell electrons for the atoms of the first 12 elements in
the Periodic Table was plotted against the proton (atomic) number of the
element. Which g}'aph was obtained? |
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With the aid of the information in the'_ Periodic Table, answer questions 12 to
15 using the elements listed. - !

A Sodium

B Copper

C Silicon : )
D Iodine ' .

Choices can be used once, more than once or not all.

Which element - 2o

.isingr.oup;ll,' Fiad " g A BCD

has 35 neutrons in an atom, A B IC D

has an atom with the electronic configuration 2,81, A BCD
A BCD

has diatomic molecules?




A g
‘B 10dg

C  150g.

D le4g

| 17. " The composition of dry air is given in the table.

I; S K g | pecentim ]
,;' _‘ - carbon dioxide | 0.03
| ' ’ ' . ' raregases - - 097
- . . oxygen : 20.00
‘ . nitrogen 79.00

. 72000 cm® -

18, What is the pémentage by mass of n%a'gnesim in magne'siumb oxide, MgO?

A 16 |
B 24 | '
C 40
D 60
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8 Which symbols represent the ammonium, hydrogen and hydroxide ions?

A NH, H OH

B NH,” H* OH-

C NH,* OH* OH-

D NH, OH- OH-
20. Which metal oxide is amphoteric?

A copper Bxide

B sodium oxide

C aluminium oxide

D magnesium oxide

21. Which is NOT a characteristic property of an acid?

A Turns blue litmus red
B Produces ammonia gas on reacting with an ammonium salt.
C Tastes sour.
D Undergoes a neutralization reaction.
22. Which one of the following substances gives a white precipitate with barium

chloride solution and a lilac flame test?

A

B
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sodium sulphate
calcium chloride
potassium sulphate :

lithium chloride
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) What does this mixture contain?

A

| B

an acidic g-a.'s and hydregen ‘ -

an acidic gds and oxygen

. analkaline gas and hydrogen
' analkaline gas and 6xygen "

L T e =

24 An electric current-was passed -through- an unknown solution. The gases
| evolved were collected and tested: The gas from the anode cayses a glowin
l splint to burst int flames and the gas from the cathode burned with a
y “squeaky pop”, Which solution was probably used?
’} S, A concentrated hydrochloric acid
: B sodium chloride |
! & silver nitrate

D dilitesulphuricacid "
¥
[
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26.
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Aqueous copper(ll) sulphate is electrolyzed using copper electrcdes.

Which observations will bte made?

at anode (+ve) at cathode (-ve) colour of the solution
A | anode dissolves pink solid forms blue colour fades
B |anode dissolves pink solid forms | 1O change
C |colourless gas forms | colourless gas forms | no change
D |colourless gas forms | pink solid forms blue colour fades

The graph shows the results of an experiment to determine the rate of
reaction between magnesium ribbon and excess dilute hydrochloric acid.

8

Illlllllllllllilll

Volume of gas (cm’)

. Time/s

Use the information arid graph to answer questions 26 to 28.

‘Which is the correct equation for the reaction?

A magnesium + hydrochloric acid — magnesium chloride + water

B magnesium + hydrochloric acid —» magnesium chloride + hydrogen

L magnesium + hydrochloric acid —

magnesium chloride + carbon dioxide

D magnesium + hydroc_hlorié acid —

magnesium chloride + water + carbon dioxide ;




27.

28.

80. A sample of water did not lather readily with s:"osip'. Which ion is hkely tobe . -

A
B

&

D
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A faster r:atte
B fastex_' rate

slower fatle
L ‘

calcium
carboha_te
sodium

mﬂph&te

slower rate

Ancreased volume of gas -, -

7 tﬁe-sa_izte'volizﬁ_é.bfga;

increased volume of gas

~ the same volume' of gas

; 29, In which form of carbon are the atoms bonded geu-;xhédréﬂy 7
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32.

33.
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e scale or fur most often found in kettles used for toiling hard water is a
deposit of

A calcdium carbonate i

B copper(II) carbonate

C lead(II) carbonate

D zinc carbonate

Copper(Il) carbonate, calcium carbonate and zinc carbonate decompose
when heated. The temperature at which decomposition takes place depends
upon the position of the metal in the reactivity series.

What is the correct order for their decomposition?
(lowest temperature — highest temperature)

A lcopper(II) carbonate zinc carbonate calcium carbonate
B calcium carbonate zinc carbonate cop}:er(II) carbc;nate
& zinc carbonate copper(Il) carbonate  calcium carbonate
D zinc carbonate calcium carbonate copper(Il) carbonate

If 20 g of an elemerit X combines with 30 g of an element Y in one sample of a
compound, then in another sample of the same compound 100 g of element X

would combine with:
A 100 gof Y
B 150 g of Y

c 30 gof Y

‘D 20gofY

|




35.

36.
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The diagram shows the industrial production of dilute sulphuric acid.

S (g) + 02 (g) SfEPI Substance A (®

substance A ® + Oy sfepz éﬁbstance B ‘&,
substance FB @)+ HZSO‘ o sfep3 substa.nce Co
substance ¢ o+ HzSO ) step4 substance D

Use this mformatton to answer questions 34 to 36._ . 4

‘Whmh Step results in an aqueous soluhon?
A step1 |
B step2 "
C step 3 |
D  stepq
| What is sul:'stanceA in the dxagram?-'.
A sulphl.u:ic acid -
B sulphur dioxide
C  .sulphur h'iondti;e
D oleum L e l_
In which step is & égtalyst used?
A step 1 | .
B step 2
C s"tep 3
D step 4
[Turn ovér
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38.
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Which indusirial process uses iron as a catalyst? .
A making ethanol from ethene and steam
B making ammonia from nitrogen and hydrogen

C making steel

D making sulphur trioxide from sulphur dioxide and oxygen

Which physical property makes metals useful for making bottle caps for
sodas?

A biodegradable

B compressible

C ductile

D malleable

IO o
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Which propertjes make this product useful?

whter soluble ! flexible | !  corrosion
A no | yes - - small
no | no - Iarg_e
yes no. © | large
yes . y_es‘ Lae ; .‘ - . . sma H

A prdp;lne :
B eitene

C ethanal

D coal

e s — e

. The choices'van be used once; more ih-im_ once or not af aJl,

0. The substance produced by fern{enfati?:ri and used in the

fuel gasoho], A B CbpD
41. A hydrocarbon which may undergo polymerll_'zatipn A B CbD
42, The main component of cooking gés used in The Bahamag

43. The subs&_mc_e that when completely burned produces
a pollutant other than carbon dioxi_de. :
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45.

47.
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YWhich best deseribes an aqueous solution of pH 6.57

neutral
strongly acidic
strongly alkaline

slightly adidic

In the equation Fe + CuSO, — FeSO, + Cu

A

B

D

iron is oxidiseci and copper(I) sulphate is the reducing agent.
iron 15 reduced and copper(ll) sulphate is the'oxidising agent.
iron is oxidised and copper(ll) sulphate is the oxidisiﬁg agent.
iron is. reduced and copper(ll) sulphate is the redticing agent.

The formation of water is shown by the equation below:~

2H, 3+ Oy 2HO0 AH=-572K]

What kind of chemical _reactibn is shown by this equation?

A

B

D

endothermic reaction producing 572 kJ of energy
endothermic reaction absorbing 572 k] of energy
exothermic reaction producing 572 k] of energy

exothermic reaction absorbing 572 k] of energy

What s the basicity of sulphuric acid?

A

B
c
D

1

2



